1.1 < g% <2 GeV*

2 < g* <43 GeV*

43 < q* <6 GeV*

6 < g* < 8.68 GeV*

10.09 < g% < 12.86 GeV*

14.18 < g* < 16 GeV*

F | 070970073 +£0.021 081070035 4+0.016 07147005 4+0.012  F | 0.62779016 +£0.011 0.4747501 -+ 0.009 0.39470512 £ 0.009
Py | 00897024 +£0.040 —0.28510257 +£0.051 —0.29710133 +£0.038 P, | —0.05610100 £0.046  —0.43915%51 +0.030 —0.46570037 +£0.025
Py | —0.37470173 £0.095 —0.24470092£0.039 01217900 £0.030 P, | 0.18875%3 +£0.014 0.38610021 +£0.018 0.440790% + 0.008
Py | —0.0457020 £0.044 —0.187F020¢ £0.089 —0.0277013+£0.081 Py | 0.099795%2 +£0.014 0.01375541 +0.007 —0.034139%7 £ 0.010
P | —0.436702% +£0.111 —043110182 +£0.075 —0.71710135 £0.074 P, | —0.949101%2 £0.058  —1.025755% 4 0.059 —1.159+3932 +0.041
Pi| 03637015 +0.028 —0.13970003 £0.039 —043570%0 +£0.027  Pi | —0.495709 £0.023  —0.7467 005 +0.014 —0.68870:038 £ 0.021
P, | 0.00070%%5 +£0.021 010873975 +£0.018 01297097 +0.011 P, | 0.0107582 +£0.016 0.08010:%57 £ 0.011 0.121+3.9%0 £ 0.011
Py | —0.1577038 £0.113  —0.72770183 £0.056  0.00779212 £0.036  Pj | —0.0617015 £0.042  —0.0937 0701 +0.029 —0.01170986 £ 0.022



